EIETFERPFRELFRREHREMBRE R sLExsk (B F) I FERLHEBS FERNhERAEER
ER24%6H28 (1), 38 (R) £3—K 1212 3301
fatE T EE A ERE LS FRBdEI—F 122010
g fir _
B g K & fﬁ i % K & ’LE a0 % | Bt 8% K & ’LE a0 % K & fg 8% K & ’LE a0 % K & fﬁ 2 8% K @ ¢ a0 %
i = T T i i Tl
14100m =H FE 1 12.19 AR A 1 12.62 12.76 TE X—1 13.06 Fik 29F 1 13.07 ERR B 1 13.09 NIRRT 1314 | AtE RBL1 | 13.17
1t (-1.0) =10 (0) (+1.4) Y (-1.5) ot (+1.3) IARDE (+1.3) B S (+0.3) Ehtsd (-1.5)
24100m WA RFE 2 12.08 =k 12.16 T G 2 12.27 BK BEHE 2 12.27 Ol #T% 2 12.29 T R 2 1234 | EARK 18 2 | 1234 M xiﬁ 2 12.36
Bt (-0.3) £ (-1.1) ] (-0.5) HE (+1.1) 2T (=0.7) RBNAR (-2.3) Afta (-0.6) ot 4 (-1.1)
34100m ¥EF [Eth 3 11.47 HE B3 11.66 NI EE 11.70 m RAE 3 11.72 M EH 3 11.74 |5 F#H= £33 11.74 ENEYE 11.78 |7 ifnzkﬂljc 3 | 1178
intS (+1.0) £ (+1.0) Hngr— (+0.3) RBANAR (+1.3) i} (+1.8) FRoL S ZAN (+1.3) EERT (+0.6) Bt (+1.3)
#£35200m $kEr Et 3 | 22.95 Ftmr 3 | 2345 fHE B=3 | 2355 WA BRI | 2360 ik Z(53 | 2380 | T#= &3 3 | 2385 m RE3 | 2393 BN EfE 3 | 2403
= iniS (+0.8) :} (+0.8) % (+1.5) HHlE (-0.5) X (+1.4) E'MEW\ (-0.1) REXHE (+0.5) BT (+0.4)
E400m OA BK 3 | 5247 TAMAS3 | 5334 %t mIr 3| 5343 | BN JMAES3 | 54.18 TEZ Z2A3 | 5432 BEHE LT 3| 5436 L% 3 5453 BB BAS3 | 5508
e HHE P F i} et REBEAHR E =] Gl
+#3¥800m AH ffith 2 | 206.61 HEF A 3 | 2.08.40 r#k 3Hd 2 1 2.09.09 AN A 31 20920 ]| ;m 3] 209.42 FFHE K#E 3 | 2.09.47 WIEFF $1 3 | 2.09.83 7HHE X&E 3 | 2.10.52
i it Adtn RAXBR mll i ki =4 ko
14£1500m hE1 | 43899 MR E 1 | 44957 BERME 1] 44979 KEFBEE 1| 457.99 Elﬂaﬂiﬂ | 45876 Zih FSABA 11 4.58.85 Pk %EHﬂ 1| 45952 HZFEE1 | 50171
=[] =10 3 H ik BSg= =10 mix 7 H
#381500m AH #Eth 2 | 41803 INEHY BE 3 4.21.53 AL A 3 ] 4.21.88 N AR 3 | 4.21.96 AF Ft 3 | 42385 ABM 2 42499 SEM EESA 3 | 4.25.14 BN BRI | 42641
- .—JE fints ot 54 REABE BEAEE =11 INEE =18
#3H3000m K JEF 3] 9.16.23 = fA1- 3 ] 9.16.83 FEEBA3] 92192 | /PMEMR RTL 3 92463 FEH Z 3 | 9.24.87 INE B 2 | 9.25.28 A BEK3 | 9.27.36 SEM BEB 3 | 9.28.51
” ﬁfré‘l i L~ RAXBR i t# i - =18 INEE
$#38110mH B —##3 15.89 ERI &3 16.94 KFE s 3 16.95 PNES %— 3 17.09 A E 17.13 Riz £1E 3 17.38 BK 18 2 17.88 B0 HE 3 17.91
- HHE (+0.3) il (+0.3) A% (+0.4) )z} (+1.1) Bth (0) Eﬁ,ﬁ (+0.4) kY (+0.4) b Sa o (0
EXE RBEXER ] e t# BEH— _FRiE A
ek M 3 TEZA 3 A &5 3 oM S 3 He 1EKER 3 INIT K8 2 INSET 1EL 3 ERAK 8 2
#B4Xx100mR | &+ EHK 3 | 4566 WO EE 3 45.69 Mo B 2 | 4587 B —18 3 45.96 HEB= 3 46.1 M B 3 46.15 % [Eth 3 | 46.28 B EE 3 46.53
fEfk #18 3 il RE 3 i EA 3 il EE 3 X8 Rl 3 K& XE 3 #EA IR 3 HE ®’A 3
B % 3 Tt BR 2 Hith = 3 Mo $RE 3 Nne s 2 I EfD 3 BxR —18 3 RAA A 3
FEHAI | 173 =R EER 3] 1.60 FH A3 160 B BE 3 155 [4 JIE#FEX2] 155 WA 2 150 [6 AJIFHEE 3] 150 [6 REEIF 3 1.50
sEE=H AR BEH— i} i} ik Sin SRE INE
7S = 6 BEEMAX2! 150
At
1 iR 5.22 I+E kB 1 507 INL R 1D 457 BEss MESE 1 1 455 1E% ¥ 1 454 O BT 4.44 i N7 1 4.34 FTH E 1 424
= -0.6 = A Er Y +0.0 B2 -0.1 IR +0.8 .—.*E.:. -0.1 A Er Py +1.4 BHE_ +1.8 BRI +2.1
IR 6.11 BH EAI | 607 KE #MiZE 3| 6.06 BE BEA 3 601 5.77 E/Efth 3 576 |7 #HAE3 | 576 |8 FHEH2 | 576
- = 58y -1.2 fHiE +0.5 PN +2.4 B — +2.5 +0.6 BRI e -1.0 =[] +1.6 iAYiad +1.0
HBERRE Hf 8A3 | 1253 |4 7oy-—FI% 3. 1040 ¥OERE2 ] 979 NERER 3] 977 9.29 HARE3 | 892 EFf REE3 | 890 ,.L# fEth 3 | 866
i - BRI INEE B LI INEE EH =11 &R
BXR —18 2 [ 2240 fRIR E—EF 3] 2223 Il A% 3T 2143 A0t 3 1 1967 1864 L BRI 3 [ 1812 T s 3 | 1672 FERES3 | 1623
fats Bra_ BB =iEe E 2 L =Yk BT
UIE S 16.09(-0.9) 723 16.53(=0.9) 674 18.62(-0.9) 466 17.25(=0.8) 598 17.43(=0. 8) 580 18.02(-0.8) 522 20.10(-0.9) 341 19.10(=0.8) 424
9.24 440 10.88 539 9.64 464 9.57 460 9.50 456 8.56 400 8.06 370 8.23 380
1.59 457 153 411 1.62 480 1.56 434 1.45 352 1.45 352 1.56 434 1.45 352
54.48 620 54.99 599 51.81 733 58.25 475 58.21 476 56.54 538 56.85 527 58.47 467
BHE fit 5 B X FRERTE EH ®=
28 3H
FrZl xR R B[] JERES IR FrZl xR R B[] JERES IR
9:30 i 235°C E 1.7m/s 59% 9:30 5 22.0°C E 1.0m/s 66%
10:00 E 24.0°C El 1.2m/s 60% 10:00 & 22.0°C g 0.6m/s 69%
11:00 £ 24.5°C tE 1.6m/s 60% 11:00 5 21.5°C E 1.4m/s 69%
12:00 £ 26.0°C £ 1.0m/s 55% 12:00 [E3 22.0°C tE 1.2m/s 70%
13:00 £ 25.5°C E 0.6m/s 59% 13:00 5 23.0°C E 1.4m/s 67%
14:00 £ 25.5°C £ 0.2m/s 59% 14:00 & 235°C e 1.0m/s 60%
15:00 £ 245°C E 0.4m/s 56% 15:00 5 235°C ItE 1.8m/s 60%
16:00 [ 24.5°C 3 1.2m/s 53% 16:00 i 23.5°C Ed 1.7m/s 56%
16:25 5 235°C E 1.4m/s 56%




FIBEFERPERE LHZGEHEEIMBERR

REFCERR (XF)

I FERLBREGR. TERMERETEER

TRi24%6H28 (L), 38(H) £3—F 1212 3301
feETER A EE LS FEEEO—F 122010
g fiI 1 3 7 8
B B K & & & 8% K A fﬁ, it &% K & & & 8% EN f—ﬁ a0 &% K & fE i % K & fﬁ, it &% K & & i 8% K # & i 8%
P B = Fﬁ E Fi = il
14100m Mt a1 13.60 EIR I 1 13.60 RO & 1 14.02 1404 | =K % 1411 | AR EED 1 [ 1414 BA A1 120 EE EE | 1227
SiRE (0.1 = (+0.6) TRt (+1.3) (+0.6) =] LLI (+1.0) =4 (+0.2) =X (+0.8) =[] (1.7
24£100m EHMEX2 13.10 =g Bk 2 13.50 BEEFE2 1357 13.57 ME B2 13.63 B 2 2 1363 | EAKRBZ 2 1364 B RT 2 13.64
1M (+0.8) Bl (+0.5) IR (+0.8) (+0.7) A (-1.8) :ﬁfﬁxﬁy (=1.4) Bth (+0.1) il (+0.7)
34100m WA Fi 3 12.50 EXER 12.79 EHEZ 3 12.92 12.95 SHEEX3 1308 | B OFE3 | 13.17 AR EE 3 13.26 g8 FE 3 13.26
A (+0.5) 1TH (+0.8) BEH= (+0.8) (+0.5) A (+0.9) b — (+0.5) Eo 3t (+0.5) =28 (+0.5)
H#3%200m WA FHHL3 | 26.29 BHIE #E&3 | 2649 A FE3 | 2662 26.76 #MAEEI | 2713 EEMEX2 | 2720 BRI 1 2739 | PAIER EERE3 | 2755
i 2 (-0.7) fTH (+2.0) 21 (+1.6) (+2.0) BBAT (-0.5) 1H (+2.3) ; (+2.4) IR (+0.6)
H#3¥800m ARZE®3 22336 | k)l #EK2 | 22433 SMARF2 | 22434 KEHEE 3] 22435 YEO $57E 2 | 2.24.39 BE M3 22459 L H Al 2 | 2.24.60 | e 3 | 22495
i e Bl Al & EnHE B il Efh fafk
#381500m fnfk BAEE 3] 4.44.65 =jE R 3 | 44488 BE¥Th 3] 44969 iR B#E 3 | 45050 | fntHME FFE 2] 451.73 Pk Infc 3 | 45343 RNEFEE 3] 45343 N R REZ 3] 4.53.98
- ftats o Am il oM HFER & ki BHEre o 3 0Y
#3%100mH AH KE 3 1557 | ERRK R¥E 3 1576 H=E & 2 15.98 =2 tE3 16.06 AiE BX2 16.14 H B 2 1631 | EAM BE3 | 16.63 HA FE3 16.66
i o SN (-0.4) BT (+0.3) S AN (-0.8) =58 (+0.6) =[] (+1.0) =]} (=0.4) 2 Gk (+1.0) e A= (+1.8)
T BT - P __fTH ;% BEEIN = _ BE
S5 &% 3 BE M 3 =H BEF 2 AT Inth 3 B 3 Rk NHE 2 B AXF 2 BH SxT 3
HB4x100mR | A FE 3 49.79 ILE &<5 3 51.13 | [R¥ EHX 3 5202 KEEE 2 52.06 BH ER 52.14 AH HE 3 52.61 AR Thia 3 52.84 HH PE 3 52.85
MHE BE 2 ERRKRE 3 AW #EE 3 FARER 2 WK BiR 2 btz & 2 0T #%F 3 HEE #57E 3
A FHiE 3 AR *,E‘ 3 BARE 3 RE #EXK 3 FHELF 3 & =18 2 Y REF 3 B RRIK 3
S3m = Bk EKFTEE 3| 163 1.54 ¥yl BZ ol 148 BN =3 1.48 ELR IGEE 20 148 e BR3 | 145 = =L 3] 140 MR EH 2 140
TR _EE** _ =T Lk - T AFR ERutadl Bl
1 iR ﬁz}: 1] 438 G mFE 1] 404 | FEAZ =@ 1] 401 N BE 1] 400 EH KR 1| 394 BAZZ 1] 390 m;— BRIF 1] 390 Tk =@ 1| 3.86
= BEH= -0.2 ot +0.6 2 T -0.7 bz G +1.8 b k-l +0.3 b T +1.5 BHE= 0 B Ll +0.1
HIEEIEE EHEZ3] 519 BHFE3 | 512 A EFEF 3 505 AFEXR3 | 475 EEREFA2 474 FEHMBAE3 | 471 THES 2| 460 HERE 5= 2 459
- = EEEH= +1.0 &M -0.1 =] -1.3 1% +3.8 =N +1.1 EEEHt +15 iR +0.6 =100 -1.2
HERAE BEMWFI | 996 FE #3976 MRESFHEF3 | 941 HBHEMAF 2 930 AFIE XA 2| 867 = BB 2 8.37 TH O, 2| 832 =% T4 3 8.30
i - BRI By ah Gl fll] . Lt ) g4 e A= ik e
WA &<5 3] 2058 Fifl %31 1820 WMAFEI | 1721 NO Fem 3] 1720 S ¥FEI | 1716 HETCE3] 1630 B ZXE 2] 1531 A B2 1522
BRT Z 2} —E HiE Sin ExHH T
OB 17.27(+0.5) 566 16.82(-1.4) 617 19.33(-1.4) 360 17.37(+0.5) 555 18.30(-1.4) 458 17.79(+0.5) 510 19.45(+0.5) 349 19.31(+2.2) 362
1.33 439 1.30 409 1.30 409 1.15 266 1.25 359 1.25 359 1.20 312 1.30 409
7.92 394 6.04 274 7.26 352 7.03 337 6.43 299 6.20 284 6.91 329 6.68 315
27.64(+1.4) 659 29.46(+1.4) 520 28.39(+1.4) 600 28.90(+1.4) 562 28.39(+1.4) 600 30.07(+1.4) 477 29.18(0) 541 30.67(+1.4) 436
BHR fit 4 B X EEEREE 2 H R =




